K 8 Wérksheets

Divisibility Rule - 8

Underline the correct choice.

1) 564,371

a) Last three digits are divisible / not divisible by 8.

b) 564,371 is divisible / not divisible by 8.

2) 167,200
a) Last three digits are divisible / not divisible by 8.

b) 167,200 is divisible / not divisible by 8.

3) 4,522,678

a) Last three digits are divisible / not divisible by 8.

b) 4,522,678 is divisible / not divisible by 8.

4) 356,728
a) Last three digits are divisible / not divisible by 8.

b) 356,728 is divisible / not divisible by 8.

5) 7,645,320

a) Last three digits are divisible / not divisible by 8.

b) 7,645,320 is divisible / not divisible by 8.

6) 895,423
a) Last three digits are divisible / not divisible by 8.

b) 895,423 is divisible / not divisible by 8.

7) 567,342

a) Last three digits are divisible / not divisible by 8.

b) 567,342 is divisible / not divisible by 8.

8) 2,311,264
a) Last three digits are divisible / not divisible by 8.

b) 2,311,264 is divisible / not divisible by 8.

9) 3,240,016

a) Last three digits are divisible / not divisible by 8.

b) 3,240,016 is divisible / not divisible by 8.

10) 5,698,024
a) Last three digits are divisible / not divisible by 8.

b) 5,698,024 is divisible / not divisible by 8.

11) 982,314

a) Last three digits are divisible / not divisible by 8.

b) 982,314 is divisible / not divisible by 8.

12) 6,723,415
a) Last three digits are divisible / not divisible by 8.

b) 6,723,415 is divisible / not divisible by 8.

13) 723,456

a) Last three digits are divisible / not divisible by 8.

b) 723,456 is divisible / not divisible by 8.

14) 108,057
a) Last three digits are divisible / not divisible by 8.

b) 108,057 is divisible / not divisible by 8.
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